=R

SN EF S EERLEE
gl gl g Bl BN lals als B i

22 A

- B i e el el el el - .
- - - P
) v B = H_

I M2

“
E
=



S X /IR

i& F T re%s i R By 42 £

B X /ERE SJIA-..-PM

RiZ 2=

=

AEsMERAK +/-3°

- E SOE IR FE R REB

-ALLEEDAE

VA3

( ﬁ‘:#& ) HlmBEERINEHAEIRE , \M

SBEFIRITRSEREEER. BXE
128 PM A UAAMEEEEREDAEIRE
‘ B A ATAME +/-3°

RAKEIEIEINT £ ER , EKTEF

Hiho

:.II. =,

A 3 IR B S BEAMEIRAT B SIRIT 5 S 5

B TEIRE. ﬁ‘i TR R R T,
%1;5 W FENE RS INS S B IE T

B4
mEre W Trdxp D D1 D2
SJAS—PM ~ Tr18x4 52 29 40
SJA10-PN Tr 20x4 74 39 60
SJA20-PM 4 Tr 30)&6 88 46 70
SJA50-PM Tr 40x7 105 60 85
SJASO-PM ~ Tr50x8 148 85 120
SJA100-PM ~ Tr60x9 165 - 90 25
SJA200-PM Tr 80X12 225 120 170
'SJA300-PM Tr 100x16 280 145 215
BMHES W MxT L Ll 12 LS? | Kg
SJAS—PM M5x12® 789" 13 91 123 | 0.66
SJA10-PM M6x12 83 137 W24 128" 1.49
SJA20-PM M6x12 95 13 27 158 | 2.36
SJA50—PM M8x16 §29™ W15 S T2 5,04
SJABO-PM M10x20 190 15 45 298 | 15.1
~ SJA100-PM M12x24 210 15 45 330 | 21.9
SJA200-PM M16x32 224 20 40 369 | 47.0
SJA300-PM M20x40 275 20 40 455 | 94
2 BKES SIFA Z228
T 42 5L O
M Tr 40x7 FT18 , BRLERH
1/8" 1 114
1“71‘1.':"
ﬂfﬁ'ﬂ%ﬁ Rg7 ( %’fﬁ )
L 125 SIFA

AR BRE B ERE,




EWOIEE BldX FATENd ONIMONOA LI0T O




